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• d`i;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr iz'u 27 gSaA  

Please make sure that the printed question paper are contains 27 
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• iz'u-i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsV lsV lsV lsV dks Nk= mÙkj-iqfLrdk ds eq[;-i`"B 
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The Code No. and Set on the right side of the question paper should be 

written by the candidate on the front page of the answer-book. 

• d`i;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 

Before beginning to answer a question, its Serial Number must be written. 

• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 

Don't leave blank page/pages in your answer-book. 
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• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk 
mÙkj u dkVsaA 

Except answer-book, no extra sheet will be given. Write to the point and do 

not strike the written answer. 

• ijh{kkFkhZ viuk jksy ua0 iz'u-i= ij vo'; fy[ksaA 

Candidates must write their Roll Number on the question paper. 

• d`i;k iz'uksa ds mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds ijh{kk ds ijh{kk ds ijh{kk ds 
mijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA 

Before answering the question, ensure that you have been supplied the 

correct and complete question paper, no claim in this regard, will be 

entertained after examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %        
General Instructions : 

        (i)    lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    
            All questions are compulsory.    
        (ii)    oLrqfu"B iz'uksa ds lgh lgh lgh lgh fodYi    fy[ksaA 
            Write the correct option in objective type questions. 

  (iii) nh?kZ mÙkj okys iz'uksa esa vkarfjd fodYi dk izko/kku gSA 
   Internal choice has been provided in long answer type questions. 

  (iv) izR;sd iz'u ds vad mlds lkeus n'kkZ;s x;s gSaA 
   Marks of each question are indicated against it. 

[k.M [k.M [k.M [k.M –    vvvv    

    SECTION – A  [ Marks : 20 
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¼HkkSfrd foKku¼HkkSfrd foKku¼HkkSfrd foKku¼HkkSfrd foKku½½½½ 
    (Physics)      

  1. og O;fDr tks fofHkUu jaxksa dh igpku djus esa vleFkZ gks] rks og fdl jksx ls xzflr gksrk gS 
\ 1 

 (A) eksfr;kfcan  
 (B) jaxkU/krk 
 (C) (A) rFkk (B) nksuksa 
 (D) buesa ls dksbZ ugha 

 A person who is unable to recognize different colours suffers from : 

 (A) Cataract 

 (B) Colour blindness 

 (C) Both (A) & (B) 

 (D) None of these 

  2. lw;ksZn; rFkk lw;kZLr ds le;] lw;Z ds jDrkHk izrhr gksus dk dkj.k izdk'k dh dkSu&lh fdj.kksa 
dk T;knk izdh.kZ gksuk gS \ 1 

 (A) yky jax (B) uhyk jax 

 (C) (A) rFkk (B) nksuksa (D) buesa ls dksbZ ugha 

 At the time of sunrise or sunset, the cause of reddening of Sun is due 

to the scattering of which rays of light ? 

 (A) Red rays (B) Blue rays 

 (C) Both (A) & (B) (D) None of these 
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  3. fdlh /kkrq ds ,d leku pkyd dk izfrjks/k fuHkZj djrk gS % 1 

 (A) pkyd dh yackbZ ij 

 (B) mlds vuqizLFk dkV ds {ks=Qy ij 

 (C) inkFkZ dh izÑfr ij 

 (D) mijksDr lHkh ij 

 The resistance of a uniform metallic conductor depends on : 

 (A) Length of conductor 

 (B) Area of cross-section 

 (C) Nature of material 

 (D) All of the above 

  4. fdlh IysV dks Å¡pkbZ ls fxjkus ij ---------- dk vf/kdka'k Hkkx Q'kZ ls Vdjkrs le; /ofu 
ÅtkZ esa ifjofrZr gks tkrk gSA 1 

 (A) xfrt ÅtkZ  

 (B) fLFkfrt ÅtkZ 

 (C) (A) rFkk (B) nksuksa  

 (D) buesa ls dksbZ ugha 

 When a plate is dropped from a height, at the time it hit the ground, 

the maximum part of its …….. is converted into sound energy. 

 (A) Kinetic energy  

 (B) Potential energy 

 (C) Both (A) & (B)  

 (D) None of these 
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  5. rjax ÅtkZ D;k gksrh gS \ laf{kIr o.kZu dhft,A 2 

 What is wave energy ? Explain in brief. 

  6. fdlh 6 Ω ds izfrjks/kd ls 125 J Å"ek izfr lsds.M mRiUu gks jgh gSA izfrjks/kd ds fljksa 

ij foHkokarj Kkr dhft,A 2 

 A 6 Ω resistance emits heat energy at the rate of 125 J/s. Find the 

potential difference across the resistor. 

  7. vkius i;kZoj.k dks cpkus ds fy, rhu izdkj ds 'R' ds fo"k; esa rks vo'; lquk gksxk %  

 de mi;ksx (Reduce), iqu% pØ.k (Recycle) vkSj iqu% mi;ksx (Reuse). ßiqu% mi;ksxÞ 

dk o.kZu foLrkj ls djsaA 

 You must have come across the three 'R's to save the environment : 

 Reduce, Recycle and Reuse. Explain Reuse in detail. 

  8. (a) ysal dh {kerk D;k gksrh gS \ fdlh ysal dh ,d Mk;ksIVj (1D) {kerk dks ifjHkkf"kr 

dhft,A 2 

  What is the power of a Lens ? Define one Dioptre (1D) power of a 

lens. 

 (b) dksbZ oLrq vory niZ.k ds oØrk dsanz (c) ij fLFkr gSA ml oLrq ds izfrfcac dh fLFkfr] 
lkbt+ rFkk izÑfr dks js[kkfp= ds }kjk n'kkZb,A   2 
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  An object is placed at the centre of curvature (c) of a concave 

mirror. Draw the ray diagram to depict the position, size and the 

nature of image formed. 

  9. ,d izR;korhZ fo|qr /kkjk (a.c.) tfu= ds fl)kar] lajpuk rFkk dk;Zfof/k dk foLr`r o.kZu 
dhft,A 6 

 Explain in detail, the principle, construction and working of an 

alternating current (a.c.) generator. 

vFkokvFkokvFkokvFkok    

OR 

 (a) fdlh NM+ pqacd ds pkjksa vksj pqacdh; {ks= js[kkvksa dks vkjsf[kr dhft,A  
 2 

  Draw the magnetic lines of force around a bar magnet. 

 (b) ifjukfydk ls vkidk D;k vfHkizk; gS \ ,d ifjukfydk esa izokfgr fo|qr /kkjk ds 

dkj.k mRiUu pqacdh; {ks= dks vkjsf[kr dhft,A ifjukfydk ds mi;ksx ij Hkh izdk'k 

Mkfy,A   4 

  What is a Solenoid ? Draw the magnetic field around a current 

carrying solenoid. Also mention the use of a solenoid. 

[k.M [k.M [k.M [k.M –    cccc    

    SECTION – B  [ Marks : 19 

¼jlk;u foKku½¼jlk;u foKku½¼jlk;u foKku½¼jlk;u foKku½ 

    (Chemistry)   
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10. )()(2)(2 2 gBrsAgsAgBr + →
kizdk'dkZlw;

 

 Åij nh xbZ vfHkfØ;k dk mi;ksx gksrk gS % 1 

 (A) osfYMax esa 

 (B) ';ke&'osr QksVksxzkQh esa 

 (C) nhokjksa dks lQsnh djus esa 

 (D) la{kkj.k dks jksdus ds fy, 

 )()(2)(2 2

Sunlight
gBrsAgsAgBr + →   

 the above reaction is used in : 

 (A) Welding 

 (B) Black & white photography 

 (C) White washing walls 

 (D) To prevent corrosion 

11. ty dh LFkk;h dBksjrk dks gVkus ds fy, fdl lksfM;e ;kSfxd dk mi;ksx gksrk gS \ 1 

 (A) 3NaHCO  (B) NaOH  

 (C) 42SONa  (D) OHCONa 232 10.  

 Which sodium compound is used for removal of permanent hardness of 

water ? 

 (A) 3NaHCO  (B) NaOH  

 (C) 42SONa  (D) OHCONa 232 10.  
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12. fuEu esa ls fdl rRo esa dqy rhu dks'k gSa rFkk la;kstdrk dks'k esa pkj bysDVªkWu gSa \ 1 

 (A) flfydkWu (Si ) (B) ,Y;qehfu;e (Al ) 

 (C) eSXuhf'k;e (Mg) (D) lksfM;e (Na) 

 Which of the following element has a total of three shells with four 

electron in its valence   shell ? 

 (A) Silicon (Si ) (B) Aluminium (Al ) 

 (C) Magnesium (Mg) (D) Sodium (Na) 

13. tc yksgs dh dhy dks dkWij lYQsV ds foy;u esa Mqcks;k tkrk gS] rks foy;u dk jax D;ksa cny 

tkrk gS \ blds fy, jklk;fud lehdj.k Hkh nhft,A 2 

 Why does the colour of copper sulphate solution change when an iron 

nail is dipped in it ? Give chemical equation for it. 

14. mnklhuhdj.k vfHkfØ;k D;k gS \ ,d mnkgj.k nhft,A 2 

 What is neutralization reaction ? Give one example. 

15. fuEufyf[kr rRoksa esa ls /kkrqvksa o mi/kkrqvksa dks igpkusa % 2 

 lksfM;e (Na), flfydkWu (Si), tesZfu;e (Ge), fyfFk;e (Li). 

 Identify the metals and metalloids in the following elements : 

 Sodium (Na), Silicon (Si), Germanium (Ge), Lithium (Li). 
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16. (i) fuEu dks ifjHkkf"kr dhft, % 2 

  Define the following : 

  (a) [kfut  

   Mineral 

  (b) xSax 

   Gangue 

 (ii) fuEu vfHkfØ;kvksa ds fy, jklk;fud lehdj.k fyf[k, % 2 

  Write the chemical equation for the following reactions : 

  (a) vk;ju dh Hkki ds lkFk 

   Iron with steam 

  (b) dSfYl;e dh ty ds lkFk 

   Calcium with water 

17. (i) csUthu dk lw= fyf[k, ,oa bldh lajpuk fpf=r dhft,A 2 

  Write the formula of benzene and draw its structure. 

 (ii) dBksj vkSj e`nq ty esa vUrj Li"V dhft,A 2 

  Differentiate between Hard water and Soft  water. 

 (iii) ,FkukWy dSls vkSj D;ksa foÑr fd;k tkrk gS \ 2 
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  How and why ethanol is denaturated ? 

vFkokvFkokvFkokvFkok    

OR 

 (i) dkcZu ,oa mlds ;kSfxdksa dk mi;ksx vf/kdrj vuqiz;ksxksa esa bZa/ku ds :i esa D;ksa fd;k 

tkrk gS \ 3 

  Why are carbon and its compound used as fuels for most 

applications ? 

 (ii) ,FksukWbd vEy dks XyS'ky ,slhfVd vEy D;ksa dgrs gSa \ 2 

  Why is Ethanoic acid named as Glacial Acetic acid ? 

 (iii) fljdk jklk;fud :i ls D;k gS \ 1 

  What is Vinegar chemically ? 

    [k.M [k.M [k.M [k.M – llll    

    SECTION – C  [ Marks : 21 

¼tho foKku½¼tho foKku½¼tho foKku½¼tho foKku½    

                (Life Science)      
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18. fuEufyf[kr esa ls fdlesa CFCs dk mi;ksx fd;k tkrk gS \ 1 

 (A) jsÝhtjsVj esa 

 (B) vfXu'keu esa 

 (C) (A) vkSj (B) nksuksa esa 

 (D) buesa ls dksbZ ugha 

 In which of the following CFCs is used ? 

 (A) Refrigerator 

 (B) Fire extinguisher 

 (C) Both (A) & (B) 

 (D) None of these 

19. fuEufyf[kr esa ls fdl okgd }kjk ijijkx.k laiUu gksrk gS \ 1 

 (A) ok;q  (B) ty 

 (C) izk.kh  (D) ;s lHkh 

 Cross pollination is achieved by which of the following agents ? 

 (A) Wind (B) Water 

 (C) Animals (D) All of these 

20. fuEufyf[kr esa ls dkSu&lh xzafFk gkWeksZu vkSj ,atkbe nksuksa òkfor djrh gS \ 1 
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 (A) voVq  (B) ijkoVq 

 (C) vf/ko`Dd (D) vXU;k'k; 

 Which of the following gland secrete both hormones and enzymes ? 

 (A) Thyroid (B) Parathyroid 

 (C) Adrenal (D) Pancreas 

21. ftCcsjsfyu ds D;k dk;Z gSa \ 1 

 What are the functions of Gibberellin ? 

22. ----------- ijr lw;Z ls vkus okyh ijkcSaxuh fofdj.k ls i`Foh dks lqj{kk iznku djrh gSA 1 

 ………… layer shields the surface of earth from ultraviolet radiation 

from the sun. 

23. _rqòko D;ksa gksrk gS \ 2 

 Why does menstruation occur ? 

24. gkbMªk esa eqdqyu dk o.kZu dhft,A 2 

 Describe budding in Hydra. 

25. vxzefLr"d ds D;k dk;Z gSa \ 2 

 What are the functions of forebrain ? 

26. esaMy ds iz;ksxksa ls dSls irk pyk fd fofHkUu y{k.k Lora= :i ls oa'kkuqxr gksrs gSa \ 4 
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 How do Mendel's experiments show that traits are inherited 

independently ? 

27. (a) ekuo ikpu ra= dk ukekafdr fp= cukb,A 3 

  Draw a well labelled diagram of human digestive system. 

 (b) olk dh ikpu fØ;k dk o.kZu dhft,A 3 

  Describe the process of digestion of fat. 

vFkokvFkokvFkokvFkok    

OR 

 ok"iksRltZu D;k gS \ ;g fdl izdkj gksrk gS \ bldh D;k Hkwfedk gS \   
 6 

 What is transpiration ? How does it take place ? What is its role ? 

SSSS     


